Geog 463: GIS workshop

Exercises

Using WBS and Critical Path Method for determining personnel and timing requirements of your group GIS project
April 24, 2006



Project activities in a hierarchical layout

1. Organize the WBS level

WBS shows how project activities are organized in different WBS level

Make sure you understand these terms

· Goals/objectives or need-to-know questions

· What your project is going to accomplish

· Deliverables or information products

· The specific items or services that must be produced in order to fulfill the goals of the project

· Tasks (or activities)
· a single piece of work, or units of related work, that must be completed in order to satisfy a project deliverable or the requirement of a deliverable

· Work packages
· the lowest level of a WBS where resource assignments and time/cost estimates are established

2. Draw WBS in a tree form

3. Assign resources (roles and responsibilities) to work packages (Resource Assignment Matrix; this has reversed order between column and row compared to Huxhold reading)


Project activities in a sequential layout

4. Draw network diagram

Network diagram shows how project activities (tasks) are dependent on one another

Network diagram shows how project activities (tasks) are sequentially ordered



How long would this project take?
What are critical path tasks?
5. Determine critical path tasks following these steps:

1) List the tasks on the worksheet, WBS number, and task description

2) List the dependencies of each task

3) Record the duration of each task

4) Calculate the early start date and early finish date for each task, beginning with i = min (task #) {

a) Early finish date of the ith task = early start date + duration
b) Early start date of the (i+1) th task if dependent on other task i = (the early finish date of task i) + 1

c) Set i = i + 1}

5) Calculate the late start date and late finish date for each task, beginning with i = max (task #) {

a) Late start date of the ith task = late finish date – duration

b) Late finish date of the (i-1)th task if the ith task depends on the (i-1)th task =  (the late start date of task i) – 1

c) Set i = i – 1}

6) Calculate float for each task where float = late start date – early start date

7) Determine the critical path for the project by adding up the duration of every task with zero float

a) Task # 1, 4, 5, 6, and 7 are the critical path task and their durations total 144 days

	Task#
	Task description
	Dependency
	Early start
	Early finish
	Late start
	Late finish
	Float time
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